
]cn-kc ]T\w

28 (a)
• {]Ir-Xn-bpsS Pe-kw-̀ -c-Wn-I-fmWv hb¬

• hb¬ \nI-Øn-bm¬ Pe-£m-a-ap-≠mhpw

• hb-ens\ B{i-bn®pw Ign-bp∂ Pohn-Iƒ \in-®p-t]mIpw

• s\¬ Irjn C√m-Xmhpw

28 (b)
• Ip∂n-Sn-°¬

• ]pbnse aW¬ hmc¬

29 (a)  IØm≥ hmbp Bh-iy-amWv. •mkv sagpIp Xncn°v apI-

fn¬ sh®-t∏mƒ •m�n-\p-≈nse hmbp IØn-Øo-cp-∂Xv hsc

sagp-Ip-Xncn IØn.  tijw AW-™p.

29 (b)   •m�n-\p-≈nse hmbp IØn-Xo¿∂-t∏mƒ B ÿe- tØ°v

sh≈w Ibdn

30. a Pq¨ 21

31. c ]›na _wKmƒ

32. a kp`mjv N{µ-t_mkv

33 c IÆq¿

34 c {io\m-cm-bW Kpcp

DØc kqNnI          (t]∏¿ ˛II)  (]m¿´v  ˛ F)

35 c sh≠

36 b Ata-cn°

37 b tPm¨ _tbUv

38 a FUyp-km‰v

39. b ]©m-bØv

KWnXw

40 200 {Kmw

41 b 30 skao

42 b 48 Intem

43 a 6 _p°p-Iƒ

44. a 28

45 a 52

46 a 10

47 c 50000

48 d M
49. c 10.15pm

50 sshZypXn D]-tbmKw

90 - 270
113 - 352
100 - 300
67 - 201
125 - 400

51 hnt\mZ bm{X

a) 600 + 320 + 800 = 1720

b) 1720 ÷ 4 = 430

c) 430 - 30 = 400


